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> fi= x—x

> b==n—>(

> 5= (x,m)

> with(plots) :

f::x|—>x2

% ) - (int( f(x)-cos(n-x),x=-Pi..Pi))

% ) “(int( f(x)-sin(n-x),x=-Pi..Pi))

a(0)

— TS + sum(a(n)-cos(n-x) +b(n)-sin(n-x),n=1.m)

s = (x,m) a(zi + Z(a(n) cos(nx) +b(n)sin(nx))
n=1

> s(x,5)
2
T _ 4cos(3x) cos(4x)  4cos(5x)
I 3 4 cos(x) + cos(2 x) 9 + 4 25
> 5(x,9)
2
T 4 cos(3 x) cos(4 x) 4 cos(5 x) cos(6 x)
3 cos(x) + cos(2 x) 9 + 4 75 + 9
4 cos(7x) n cos(8x)  4cos(9x)
i 49 16 81
> s(x, 13)
2
T 4 cos(3 x) cos(4 x) 4 cos(5 x) cos(6 x)
3 cos(x) + cos(2 x) 9 + 4 25 + 9
_ 4cos(7x) n cos(8x)  4cos(9x) n cos(10x)  4cos(1lx)
49 16 81 25 121
_ 4cos(13x)
169

=> plot({s(x,5),s(x,9),s(x, 13)}, x=-Pi..P1)
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—s(x,5) —s(x,9) —s(x,13)




